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.17

B ~
3(A+B)—2C — (A-C)
—344+43B-20-A+C

=2A+3B-C

= 2(z? — 3z + 1) + 3(3x2 + 5) — (—222% + Tx)

= 1322 — 13z + 17

sa=13, b=-13, c=17

L a+b+cec=17
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o] a®> v a b
43.2 :y iz =a:b:c ¥ ,(?—Fgﬁ-;)— 45. 9 A S a, b, ¢, do Hi5t] 715 | |2 —
(a+b+c>2 o [} = |y A Ab= ¢4
ﬁ-/]ﬁ_a‘?'o}'oqa} [H\:G, o"é_} 9
v ad - be 9 Zol Rojg ), | TTW TV
| = 3(r—2y) 2y—x
> =gt o 2Ax* — 3Bxy + 2Cy*& W&ok A, B, C 9 &
A = sto] et [ 6, &%
> &
T >
z:y:z=a:b:cOB2 p o
Fo1 Ao z = ak, y = bk, Z—cketﬂ‘“é} o
(G_Q_’_E_'_ ) a—|—b~|—c > FE:. A= -2
T Y Tty+z > e B= -3
_ (o b_ € _(a—l—b—l—c) 4k -
_(ak+ okt c> ak + bk + ck >aaio= -1
a (@a+b+c)?
_(E+ + ) k(a+b+c)
:%(a—l—lH—c)—%(a—i—b-i—c):O F@
a® b (a+b+c)? r+2y zT—y
e 2 ol AdsE
(:1: Y z) T+Yy+=2 (x—2y) 2y—=x
(z+2y)(2y — ) — (z — y)(3z — 6y)
= 2zy — x2 + 4y% — 2zy — 322 + 62y + 3xy — 6y
= —422 + 9y — 29
2Ax? — 3By +2Cy? = —422 4+ 9zy—2y°% ©]|B2
an bn
= - — 4O A= —
44. P(n) (@—b)a—o + b=00—a) + 2AB 4:]];2 2
< ol W, P2)(P(1) — P0) © 7 =0 =
== , P(2)(P(1) (0)) 20— —2 A C = -1
= 5t I 6, 4% ]
» E:
(D<=
a” b c
PO = =09 T o-90-a T t=ald-b
_a(b—c)+b"(c—a)+c"(a—0D)
- (a—0b)(b—c)(c—a)
e (b—c)+(c—a)+(a—b)
—c)+(c—a)+(a—
PO = He—oe-a ~°
ab — ac+ bc — ba + ca — cb
P = e —ae—a "
. P(2)(P(1) — P(0)) =P(2) x0=0
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46. Y 719 4= a, b, ¢, d o 5t <a Z) =ad—bc 2
c

) A B
Aoghtt A = 241, B = —224+3 9|1, < A>
B

<i _ij> D, B4 p, ¢ 0 & A2 ol
M 6, 4% ]

> w

> w

DY p= -1

> A ¢g=1

B

<A B>_<B pA>

B A] \A —¢B

A? — B2 = —¢qB? — pA?
(1+p)A%2=(1-q)B?

A=z+1, B=-2:+30|2&
(1+p)(x+1)2 = (1 —q)(—2x + 3)2 0|t}
(1+p)z?+(2+2p)z+ (p+1)

= (4 — 4q9)2® + (=12 + 12¢)x + (9 — 9¢q)
1+p=4—4qg = p=3—4q--- QO
242p=—-124+12q = 2p—12q=—14
= p—6g=—-7--- O

p+1=9-9¢ = p+99=8--- ©

Q, ©, © od Ao e JHgleBz O
A& OA]of HdstA
3—4¢—6g=-7,g=1--- @

@ Q4 HdstH
p=3—4dx1l=-1"2tNp=-1,¢g=1
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